1. If a measure (scale) results in the same score each time it is given to the same individual, then this means it is;
a) reliable
b) valid
c) useless
d) unstable
 

2. The approach to research involving a large number of participants, questionnaires, but no manipulation of variables is called: 
      a)  survey. 
      b)  case study. 
      c)  experimental. 
      d)  naturalistic observation 
 

3. Subjects recruited for Milgram's experiments involving shocks were initially told that they would be taking part in a study on;
a) the power of obedience
b) how much people enjoyed giving shocks
c) the effects of punishment on learning
d) the effects of rewards on learning
e) fear and learning
4. According to sociobiological theory, in short term relationships (relationships where there is no interest in long term commitment) a trait that is sought out by both males and females is;
a) financial stability
b) minimal (or ideally no) sexual experience
c) sexual availability
d) earning potential
 
5. Research (by Florence Geis in 1986) using female college students who viewed commercials in which the traditional gender roles were reversed (e.g., a husband proudly serves dinner to his wife who is just returning from work) showed that 
a) such commercials had no change on the behavior of females
b) a "negative" reaction occurred, whereby the females were more likely to enact traditionally female roles and values
c) females were more likely to adopt traditionally male roles and  values
d) although it had no effect on the females, it did result in less extreme behavior on the part of males
 
6. In the 1950's Solomon Asch ran a series of studies to test the effects of conformity pressure. Subjects were shown a line on a white card (target line). Afterwards, they were shown three lines and asked to indicate which of the three lines matched the target line in length. Assuming you are a typical subject in this experiment and you know the correct response, what are some factors that would make it hard for you to give the correct answer if the other subjects already agreed upon a different and apparently incorrect response? 
a) if the other subjects appeared to be of higher status than you
b) if the other subjects appeared to be in unanimous agreement with each other
c) if you thought you would be ridiculed for your different answer
d) all of the above
7. Most people are likely to be surprised by the results of Milgram's initial obedience experiments because:
a) the "learners" made so few learning errors under stressful conditions
b) the "teachers" actually enjoyed shocking another person
c) the "learners" obediently accepted painful shocks with only minimal protest
d) the "teachers" were more obedient than most people would have predicted  
e) all of the above are true.
 
8. Reaction time is a measure that is frequently used in psychology. It is measured on what kind of scale?
a) ratio
b) interval
c) nominal
d) ordinal
 
9. A mode is defined as;
a) the arithmetic average
b) the point at which half of the numbers are above and half are below
c) the range of all the scores
d) the most frequently occurring score
 
10. Given that Michael Jordan is probably a better basketball player than you, which of the following would give you the best statistical chance at beating him?
a) Playing a regulation 48-minute game of one-on-one.
b) Playing a game of one-on-one up to 21.
c) Playing a game of one-on-one where the first basket wins.
d) From a statistical standpoint, all of the above are equally likely to result in your losing. 
 
